

List of RESIDENTIAL(P/GP/SP) properties in respect of ROHTAK Zone for E-Auction Dated- 18.Mar.2026

Sr. No.	Auction ID	Sector/ Urban Estate	Plot No.	Category & Size in Mtrs.	Area in Sq. Mtr.	FAR	RP in Rupees	EMD by RP in Rupees
Bahadurgarh								
1	22058	2/ Bahadurgarh	2528SP	10 Marla (eAuction) (21.50 x 11.50)	247.25	2.25	₹ 1,67,06,500.00	₹ 8,35,325.00
2	22059	2/ Bahadurgarh	2529P	10 Marla (eAuction) (21.50 x 10.50)	225.75	2.25	₹ 1,39,82,700.00	₹ 6,99,135.00
3	22060	2/ Bahadurgarh	2530P	10 Marla (eAuction) (21.50 x 10.50)	225.75	2.25	₹ 1,39,82,700.00	₹ 6,99,135.00
4	22061	2/ Bahadurgarh	2531P	14 Marla (eAuction) (21.50 x 16.15)	347.12	1.98	₹ 2,09,97,800.00	₹ 10,49,890.00
5	22062	9/ Bahadurgarh	57GP	4 Marla (eAuction) (13.50 x 6.21)	83.84	2.25	₹ 69,84,900.00	₹ 3,49,245.00
6	22063	9/ Bahadurgarh	58GP	4 Marla (eAuction) (13.50 x 6.21)	83.84	2.25	₹ 69,84,900.00	₹ 3,49,245.00
7	22064	9/ Bahadurgarh	59GP	4 Marla (eAuction) (13.50 x 6.21)	83.84	2.25	₹ 69,84,900.00	₹ 3,49,245.00
8	22065	9/ Bahadurgarh	60GP	4 Marla (eAuction) (13.50 x 6.21)	83.84	2.25	₹ 69,84,900.00	₹ 3,49,245.00
9	22066	9/ Bahadurgarh	61GP	4 Marla (eAuction) (13.50 x 6.21)	83.84	2.25	₹ 69,84,900.00	₹ 3,49,245.00
10	22067	9/ Bahadurgarh	65GP	4 Marla (eAuction) (13.50 x 6.21)	83.84	2.25	₹ 69,84,900.00	₹ 3,49,245.00
11	22068	9/ Bahadurgarh	66GP	4 Marla (eAuction) (13.50 x 6.21)	83.84	2.25	₹ 69,84,900.00	₹ 3,49,245.00
12	22069	9/ Bahadurgarh	67GP	4 Marla (eAuction) (13.50 x 6.21)	83.84	2.25	₹ 69,84,900.00	₹ 3,49,245.00
13	22070	9/ Bahadurgarh	1534GP	10 Marla (eAuction) (23.00 x 9.00)	207	2.25	₹ 1,72,45,400.00	₹ 8,62,270.00
14	22071	9/ Bahadurgarh	1537GP	10 Marla (eAuction) (23.00 x 9.00)	207	2.25	₹ 1,72,45,400.00	₹ 8,62,270.00
15	22072	9/ Bahadurgarh	1538GP	10 Marla (eAuction) (23.00 x 9.00)	207	2.25	₹ 1,72,45,400.00	₹ 8,62,270.00

16	22073	9/ Bahadurgarh	1533GP	10 Marla (eAuction) (23.00 x 9.00)	207	2.25	₹ 1,72,45,400.00	₹ 8,62,270.00
Rohtak								
1	22074	27-28-26PII/ Rohtak	1202GP	1 Kanal (eAuction) (30.00 x 15.00)	450	1.98	₹ 2,88,93,300.00	₹ 14,44,665.00
2	22075	27-28-26PII/ Rohtak	1204P	1 Kanal (eAuction) (30.00 x 15.00)	450	1.98	₹ 3,02,69,300.00	₹ 15,13,465.00
3	22076	27-28-26PII/ Rohtak	1198GP	1 Kanal (eAuction) (30.00 x 15.00)	450	1.98	₹ 2,88,93,300.00	₹ 14,44,665.00
4	22077	27-28-26PII/ Rohtak	1197GP	1 Kanal (eAuction) (30.00 x 15.00)	450	1.98	₹ 2,88,93,300.00	₹ 14,44,665.00
5	22078	27-28-26PII/ Rohtak	1199GP	1 Kanal (eAuction) (30.00 x 15.00)	450	1.98	₹ 2,88,93,300.00	₹ 14,44,665.00
6	22080	27-28-26PII/ Rohtak	1200GP	1 Kanal (eAuction) (30.00 x 15.00)	450	1.98	₹ 2,88,93,300.00	₹ 14,44,665.00
7	22081	27-28-26PII/ Rohtak	1201GP	1 Kanal (eAuction) (30.00 x 15.00)	450	1.98	₹ 2,88,93,300.00	₹ 14,44,665.00
8	22082	27-28-26PII/ Rohtak	1177P	1 Kanal (eAuction) (30.00 x 15.00)	450	1.98	₹ 3,02,69,300.00	₹ 15,13,465.00
9	22083	27-28-26PII/ Rohtak	1178GP	1 Kanal (eAuction) (30.00 x 15.00)	450	1.98	₹ 2,88,93,300.00	₹ 14,44,665.00
10	22084	27-28-26PII/ Rohtak	1191P	1 Kanal (eAuction) (30.00 x 15.00)	450	1.98	₹ 3,02,69,300.00	₹ 15,13,465.00
11	22085	27-28-26PII/ Rohtak	1195GP	1 Kanal (eAuction) (30.00 x 15.00)	450	1.98	₹ 2,88,93,300.00	₹ 14,44,665.00
12	22086	27-28-26PII/ Rohtak	1192GP	1 Kanal (eAuction) (30.00 x 15.00)	450	1.98	₹ 2,88,93,300.00	₹ 14,44,665.00
13	22087	27-28-26PII/ Rohtak	1027P	4 Marla (eAuction) (15.00 x 6.00)	90	2.25	₹ 61,98,800.00	₹ 3,09,940.00
14	22088	27-28-26PII/ Rohtak	1045P	4 Marla (eAuction) (15.00 x 6.00)	90	2.25	₹ 61,98,800.00	₹ 3,09,940.00
15	22089	27-28-26PII/ Rohtak	1046P	4 Marla (eAuction) (15.00 x 6.00)	90	2.25	₹ 61,98,800.00	₹ 3,09,940.00
16	22090	27-28-26PII/ Rohtak	1065P	4 Marla (eAuction) (15.00 x 6.23)	93.45	2.25	₹ 64,36,500.00	₹ 3,21,825.00
17	22091	27-28-26PII/ Rohtak	1154GP	4 Marla (eAuction) (15.00 x 6.03)	90.45	2.25	₹ 59,46,500.00	₹ 2,97,325.00

18	22092	27-28-26PII/ Rohtak	1155GP	4 Marla (eAuction) (15.00 x 6.03)	90.45	2.25	₹ 59,46,500.00	₹ 2,97,325.00
19	22093	27-28-26PII/ Rohtak	1156GP	4 Marla (eAuction) (15.00 x 6.03)	90.45	2.25	₹ 59,46,500.00	₹ 2,97,325.00
20	22094	27-28-26PII/ Rohtak	1157GP	4 Marla (eAuction) (15.00 x 6.03)	90.45	2.25	₹ 59,46,500.00	₹ 2,97,325.00
21	22095	27-28-26PII/ Rohtak	1064P	4 Marla (eAuction) (15.00 x 6.00)	90	2.25	₹ 61,98,800.00	₹ 3,09,940.00
22	22096	27-28-26PII/ Rohtak	1151GP	4 Marla (eAuction) (15.00 x 6.03)	90.45	2.25	₹ 59,46,500.00	₹ 2,97,325.00
23	22097	27-28-26PII/ Rohtak	1158GP	4 Marla (eAuction) (15.00 x 6.03)	90.45	2.25	₹ 59,46,500.00	₹ 2,97,325.00
24	22098	27-28-26PII/ Rohtak	1150GP	4 Marla (eAuction) (15.00 x 6.03)	90.45	2.25	₹ 59,46,500.00	₹ 2,97,325.00
25	22099	27-28-26PII/ Rohtak	1152GP	4 Marla (eAuction) (15.00 x 6.03)	90.45	2.25	₹ 59,46,500.00	₹ 2,97,325.00
26	22100	27-28-26PII/ Rohtak	1153GP	4 Marla (eAuction) (15.00 x 6.03)	90.45	2.25	₹ 59,46,500.00	₹ 2,97,325.00
27	22101	27-28-26PII/ Rohtak	989P	6 Marla (eAuction) (18.00 x 8.56)	154.08	2.25	₹ 1,15,49,800.00	₹ 5,77,490.00
28	22102	27-28-26PII/ Rohtak	1002GP	6 Marla (eAuction) (18.00 x 7.50)	135	2.25	₹ 96,59,600.00	₹ 4,82,980.00
29	22103	27-28-26PII/ Rohtak	1005GP	6 Marla (eAuction) (18.00 x 7.50)	135	2.25	₹ 96,59,600.00	₹ 4,82,980.00
30	22104	27-28-26PII/ Rohtak	1011GP	6 Marla (eAuction) (18.00 x 7.50)	135	2.25	₹ 96,59,600.00	₹ 4,82,980.00
31	22105	27-28-26PII/ Rohtak	756P	6 Marla (eAuction) (18.00 x 7.50)	135	2.25	₹ 1,01,19,600.00	₹ 5,05,980.00
32	22106	27-28-26PII/ Rohtak	948P	6 Marla (eAuction) (18.00 x 8.56)	154.08	2.25	₹ 1,15,49,800.00	₹ 5,77,490.00
33	22107	27-28-26PII/ Rohtak	968P	6 Marla (eAuction) (18.00 x 8.56)	154.08	2.25	₹ 1,15,49,800.00	₹ 5,77,490.00
34	22108	27-28-26PII/ Rohtak	1345P	6 Marla (eAuction) (18.00 x 7.50)	135	2.25	₹ 1,01,19,600.00	₹ 5,05,980.00
35	22109	27-28-26PII/ Rohtak	1376P	6 Marla (eAuction) (18.00 x 7.50)	135	2.25	₹ 1,01,19,600.00	₹ 5,05,980.00
36	22110	27-28-26PII/ Rohtak	1399P	6 Marla (eAuction) (18.00 x 7.50)	135	2.25	₹ 1,01,19,600.00	₹ 5,05,980.00

37	22115	27-28-26PII/ Rohtak	838P	10 Marla (eAuction) (21.00 x 10.50)	220.5	2.25	₹ 1,55,64,700.00	₹ 7,78,235.00
38	22116	27-28-26PII/ Rohtak	919P	10 Marla (eAuction) (21.00 x 10.50)	220.5	2.25	₹ 1,55,64,700.00	₹ 7,78,235.00
39	22117	27-28-26PII/ Rohtak	922P	10 Marla (eAuction) (21.00 x 10.50)	220.5	2.25	₹ 1,55,64,700.00	₹ 7,78,235.00
Sonipat								
1	22118	12/ Sonipat	1362P	1 Kanal (eAuction) (30.00 x 15.00)	450	1.98	₹ 4,09,43,900.00	₹ 20,47,195.00
2	22119	12/ Sonipat	1367P	1 Kanal (eAuction) (30.00 x 15.00)	450	1.98	₹ 4,09,43,900.00	₹ 20,47,195.00
3	22120	12/ Sonipat	1374P	1 Kanal (eAuction) (30.00 x 15.00)	450	1.98	₹ 4,09,43,900.00	₹ 20,47,195.00
4	22121	12/ Sonipat	1585SP	1 Kanal (eAuction) (30.00 x 15.00)	450	1.98	₹ 4,46,66,100.00	₹ 22,33,305.00
5	22122	12/ Sonipat	1586P	1 Kanal (eAuction) (30.00 x 15.00)	450	1.98	₹ 4,09,43,900.00	₹ 20,47,195.00
6	22123	12/ Sonipat	984P	1 Kanal (eAuction) (30.00 x 15.60)	468	1.98	₹ 4,25,81,600.00	₹ 21,29,080.00
7	22124	12/ Sonipat	1235P	1 Kanal (eAuction) (30.00 x 15.50)	465	1.98	₹ 4,23,08,700.00	₹ 21,15,435.00
8	22125	12/ Sonipat	1359SP	1 Kanal (eAuction) (30.00 x 15.00)	450	1.98	₹ 4,46,66,100.00	₹ 22,33,305.00
9	22126	12/ Sonipat	1361P	1 Kanal (eAuction) (30.00 x 15.00)	450	1.98	₹ 4,09,43,900.00	₹ 20,47,195.00
10	22127	23/ Sonipat	2490P	1 Kanal (eAuction) (30.00 x 14.00)	420	1.98	₹ 2,63,94,200.00	₹ 13,19,710.00
11	22128	23/ Sonipat	2371P	1 Kanal (eAuction) (30.00 x 14.00)	420	1.98	₹ 2,63,94,200.00	₹ 13,19,710.00
12	22129	23/ Sonipat	2373P	1 Kanal (eAuction) (30.00 x 14.00)	420	1.98	₹ 2,63,94,200.00	₹ 13,19,710.00

13	22130	23/ Sonipat	2370P	1 Kanal (eAuction) (30.00 x 14.00)	420	1.98	₹ 2,63,94,200.00	₹ 13,19,710.00
14	22131	23/ Sonipat	1975P	1 Kanal (eAuction) (30.00 x 14.00)	420	1.98	₹ 2,63,94,200.00	₹ 13,19,710.00
15	22132	23/ Sonipat	2204P	1 Kanal (eAuction) (30.00 x 14.00)	420	1.98	₹ 2,63,94,200.00	₹ 13,19,710.00
16	22133	23/ Sonipat	2489P	1 Kanal (eAuction) (30.00 x 14.00)	420	1.98	₹ 2,63,94,200.00	₹ 13,19,710.00
17	22134	23/ Sonipat	1982P	1 Kanal (eAuction) (30.00 x 14.00)	420	1.98	₹ 2,63,94,200.00	₹ 13,19,710.00
18	22135	23/ Sonipat	2187P	1 Kanal (eAuction) (30.00 x 14.00)	420	1.98	₹ 2,63,94,200.00	₹ 13,19,710.00
19	22136	23/ Sonipat	2488P	1 Kanal (eAuction) (30.00 x 14.00)	420	1.98	₹ 2,63,94,200.00	₹ 13,19,710.00
20	22137	23/ Sonipat	2200P	1 Kanal (eAuction) (30.00 x 14.00)	420	1.98	₹ 2,63,94,200.00	₹ 13,19,710.00
21	22138	23/ Sonipat	2380P	1 Kanal (eAuction) (30.00 x 14.00)	420	1.98	₹ 2,63,94,200.00	₹ 13,19,710.00
22	22139	23/ Sonipat	2392P	1 Kanal (eAuction) (30.00 x 14.00)	420	1.98	₹ 2,63,94,200.00	₹ 13,19,710.00
23	22140	23/ Sonipat	1322P	14 Marla (eAuction) (25.00 x 12.00)	300	1.98	₹ 2,15,97,300.00	₹ 10,79,865.00
24	22141	23/ Sonipat	834P	14 Marla (eAuction) (30.00 x 13.25)	397.35	1.98	₹ 2,86,05,700.00	₹ 14,30,285.00
25	22142	23/ Sonipat	1311P	14 Marla (eAuction) (25.00 x 12.00)	300	1.98	₹ 2,15,97,300.00	₹ 10,79,865.00
26	22143	23/ Sonipat	1327P	14 Marla (eAuction) (25.00 x 12.00)	300	1.98	₹ 2,15,97,300.00	₹ 10,79,865.00
27	22144	23/ Sonipat	2366P	14 Marla (eAuction) (25.00 x 14.50)	362.5	1.98	₹ 2,60,96,800.00	₹ 13,04,840.00
28	22145	23/ Sonipat	1072P	14 Marla (eAuction) (25.00 x 12.00)	300	1.98	₹ 2,15,97,300.00	₹ 10,79,865.00
29	22146	23/ Sonipat	1624P	14 Marla (eAuction) (25.00 x 12.00)	300	1.98	₹ 2,15,97,300.00	₹ 10,79,865.00

1. BIDDERS ARE REQUESTED TO SEE FINAL LIST OF PROPERTIES BEFORE BIDDING.

2. EMD IS CALCULATED ON RESERVE PRICE, THE FIRST ROUND OF BIDDING WILL START FROM RESERVE PRICE FIXED BY HSVP.